17N0°9-6 °37n-83-116
3f tA—="SB < |A=(B| 5 o1 ,m0w87

JRH@OYD| mowm.x .1
. ndIn

f:R—(0)
1
-—+1xell,
4x €lt.)
x 1
i xe(-11
fo={ g 22X

1
—— Xe(~0,-1
4x ( |

N9 271 0T 0NN 72y NN f
T f[(—0,~1] = (0,%], fl(-11)] = (%,%), f[1,0)] :[%,1) :NMNNDIND 2 nnRa f

Ayiy"nn f 37 ,n1on 75 nX niodni

J(1L)H(-a,a)|] VaeR" non.a
Sy P9 f[(LD)]=(—a,a) .v"nn P2 areh f(X) =ax

A={(x,y) eR* :—1< X <1A—1<y<I} 11277 Ma¥Www MR >70 '2-2 Wanw: .3
B={(x,y) eR?: =2 < x <2 A=3 <y <3} 12on7 naxwH mw

Ly 1P f[A]=B v"nn p2 et (X, y) =(2x,3y)

Dwown max iy mw {(X,y) e R? 1 —1< X <IA—1<y <T} 92077 maxww 117 .7
(X, y)eR*: x> +y* <1}

|Al=|B| Yty A={(X,y)eR2:_]_gxgl’_lgygl} , B={(X,y)€R22X2+y2§1}

h:A->C

X+y X-Yy 192
h(x,y)= 0¥ XY
(xy)==—7"+—

|Al =|C| w 123> amomn

Ampaoy Tt C={(x,y) e R*:|{+|y| <T wx>



-w b o

|A>[B| P oy xmaxn f:A>B:vVxeA f(x)={;’§:|§:pb BcA .1
POy ORMANT g:B—>C:VxeB g(x):{é’zzgprgB 2
| ARIBIXC|A[AHCIEIAHBIHC]

|A=|B| 19

BabamA

A A A

v
v

ARy
N

[A[=[C] h 585

< Cabam B

JNHNXxN| mwm .2

NX12{72 21T DMK DIDO 'O NIXIARY? DNIX 77011 ,0"'Y20 01901 7¢ DMITON NIAITA HOIXA V. ANdIN
nm I n'wwn nxina L(2,1),(1,2) nirn rar nmwn nxiapa,(1,1) arn nfr DN
.mimi (3,1),(2,2),(1,3)

‘NAN |9IN3f : N - N X N

N'Xj7219 ' T2



MIYRIN NXIAPA IYXRIN AT? N7wal
NMYN DX IWRIN AIT? N7wa2
NMYN DX YN AIT? N7wa3
N'WHYN DX IWRIN AIT? N4

NID AT NT'R7 D'RNIENTD 70NN MNR DAY 0IWD 'WA0 1900 727 .20 DTN IT NY19W NIRYT 772
4R N7W'Y 100NN Y'Y TY 1Y7NNN 7Y a7 [N ar 737,13 md .n'7en

LOFTI'R D' AT 27w (10N 7y DAl TN TRR O TI'R{ 72 AIT 22w (10 Y NN IT Y719 NIRYZ 77 [2 1D

A{m¥pmo £ f:A— B} B now .nroo mxap BAYT 3

JAl=EmM|Bl=n
WD 2120 X7 1R B-2 o n ninp (1282 m wnr) A- pn 937,020 RI01K)
(.BxBx...xB npxwprmasmr.n-n--n=n" < B

onyd m onys m

novon mxpne man A={a,,....a,},B={b,...b,} ™
g:{myomo f|f:A>B}>B’
9(f)=(f(@)....f(a, ) s

y"'In
9(f)=g(h)
U
(f@)...f(a,)=(g(a)..9(a,)
U
vi=1...m f(aj):g(aj)
U
f=h
)]
v(b,...b )eB™ 3If:A-B : f(a)=h
1N

vlo,,...b )eB" F:AB : g(f)=(f@)...f@,))=(b..b )

.P(A) = 2™ movm (nroo mona &Y BLA m1R0) 29han mpnY (3) b mnoaman 4
Af | f:A>{013} nrxpnoa nxiaph P(A)-n 531 ¥"nn anRng m1a :m;0)



o |[{0,3" |= 2% mmann vo% ,B={0,1} mav {03 ={f 73yomo| f: A—B}:m
P(A) =[B"|

g:P(A)—>{f|f:A>{01}}
My omrownr fFA-{0G
= 0,ag X
verP(A) 9(X)=1 vae f(a):{ ag
XA lae X

A\X >728 R 0-71 X 1208 DX 1-2 nnwT mva 'Nn9% nwn amn2 A 5w X "ap nn 53 ,0mo0
T NN MPR 297 1971 MNW 197 MW 2P0 OR 197 (X DW NIDIRT TOXPN0T NRIPI)

;A B\

P(A)

\_ _/

2vg

if f(a)=0 then ag¢ X
@) ¢ => X cA= X eP(A)

if f(a)=1 then ae X
vi e{0}* IX eP(A):g(X)=f = g

vf e{0}" VaeA {



g(X;) =9(X;)
U

0,a¢ X, {O,agxz_f(a)
- 12

Vae A f(a)= =
l,ae X, lae X,
U

ae X, &aeX,

U

X, =X,
U
Yann

JA\{a}|=B\{b}| no1.aec AbeB v anxwy nmw mxap B,A v LS

A =|B|=3fmw7:A>B=3f(a)eBAIf '(b)c A

AbAS

g:A\{a} > B\{b}

My

f(x),x= f(b)

f(a),x=f(b)

f 7 (b) < mMwa 7oRA PIT MpR IR AW 797 BID ATIPI 902 fina p1Ta g NR 321,00
. T () < ona 1o 'Pan nnnk

vxe A\{a} g(x) :{



A\{a} B\{b}

Oy g W aR
vy e B\{b}
(ye(B\o})\ (@) v (y=1f(@)
U U
frsr=Ixe(A\{a)\ FH(b):y=f(X)=g(x) I ) eA:y=f@)=g(f (b))

= VyeB\{b} Ixe(A\{a}):y=g(x)=>g%»

'm0 g W aRa



vu,ve A\{a}

if :u,v=f(b):g@)="f(@)="fb)=gb)=a=b:y" o= y"gm

if :u=fr(b)avzfTO)=>uzvag(v)=f(v)= f(a)=gu)= y"gm
J
ag A\{a} »
va N

if :v="~f"(0)Au=frb):omp 7970 w0

N MINNAN M DO MNP W 7PN .00 MMPA MR NNW MNAN TR TIPHa ,0173)
(D>>WaRT 0P 0 "1w2 g YN 2moma



